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Part A I Answer All The Questions

1. Define power set of a Set.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AYNXRFe1tN9x


2. If `( x+ 1,y -2) =(3,1) Find the values of x and y .

Watch Video Solution

3. Convert  into radian measure.

Watch Video Solution

240∘

4. Find the multiplicative inverse of 2-3i.

Watch Video Solution

https://dl.doubtnut.com/l/_AYNXRFe1tN9x
https://dl.doubtnut.com/l/_zuV2CROTVOfN
https://dl.doubtnut.com/l/_SpxA6pYlMO7A
https://dl.doubtnut.com/l/_XWo367FMM5HX
https://dl.doubtnut.com/l/_GvwDCma4sqgs


5. Compute 

Watch Video Solution

12!

10!2!

6. If the nth term of the sequence is 

then find 17th term

Watch Video Solution

an = 4n − 3

7. Find the slope of the time passing through the

points (3,-2) and ( -1,4)

Watch Video Solution

https://dl.doubtnut.com/l/_GvwDCma4sqgs
https://dl.doubtnut.com/l/_PNEEly65BwTg
https://dl.doubtnut.com/l/_RtCiaOVCZkMg


8. Evaluate 

Watch Video Solution

Lim
x − 0

ax + b

cx + 1

9. Write the negation of statement  is not a

complex number.

Watch Video Solution

√2

10. Describe the sample space for the indicated

experiments 

A coin is tossed and a die is thrown

h id l i

https://dl.doubtnut.com/l/_6yM5eloDf9zf
https://dl.doubtnut.com/l/_itjiFkNiK2ZV
https://dl.doubtnut.com/l/_onZ5ctzLVth4


Part B Ii Answer Any Ten Questions

Watch Video Solution

1. If A={3,5,7,9,11},B={7,9,11,13},C={11,13,15} and

, find 


Watch Video Solution

D = {15, 17}

A ∩ (B ∪ C)

2. If S and T are two sets such that S has 21

elements, T has 32 elements and  has 11

elements, how many elements does  have ?

S ∩ T

S ∪ T

https://dl.doubtnut.com/l/_onZ5ctzLVth4
https://dl.doubtnut.com/l/_WgxsL2dpq8XO
https://dl.doubtnut.com/l/_mhOS6IQE7VjW


Watch Video Solution

3. Let . Write . How

many subsets will  have ?

Watch Video Solution

A = {1, 2}, B = {3, 4} A × B

A × B

4. Find the value of .

Watch Video Solution

sin 75∘

5. Find the general solution of 2 sin x + √3 = 0

https://dl.doubtnut.com/l/_mhOS6IQE7VjW
https://dl.doubtnut.com/l/_0UDhIV384njT
https://dl.doubtnut.com/l/_iocSECWVZQtj
https://dl.doubtnut.com/l/_ngRbbhCyJYyl


Watch Video Solution

6. Express  in the

from a + ib.

Watch Video Solution

(3 + i√5)(3 − i√5)

(√3 + i√2) − (√3 − i√2)

7. Solve . Show the graph of the

solution on number line.

Watch Video Solution

7x + 3 < 5x + 9

https://dl.doubtnut.com/l/_ngRbbhCyJYyl
https://dl.doubtnut.com/l/_fKWfmBSTFxYp
https://dl.doubtnut.com/l/_wggzcTBZ4qXz


8. Find the equatin of the straight line with slope m

and passing through the point (x1,y1)

Watch Video Solution

9. Reduce the equation  into

intercept form and find its intercepts on the axes.

Watch Video Solution

3x + 2y − 12 = 0

10. Show that the points (2, 3, 4), (-1, -2, 1), (5, 8, 7) are

collinear.

h id l i

https://dl.doubtnut.com/l/_U3BtmKrIaQuo
https://dl.doubtnut.com/l/_yUIjYxT7NOcY
https://dl.doubtnut.com/l/_iJ48Es3MOpj7


Watch Video Solution

11. Evaluate : 

Watch Video Solution

lim
x → 1

x15 − 1

x10 − 1

12. Write the converse and contrapositive of " if a

number is divisible by 9 then its is divisible by 3"

Watch Video Solution

13. An analysis of monthly wages paid to workers in

two firms A and B belonging to the same industry

https://dl.doubtnut.com/l/_iJ48Es3MOpj7
https://dl.doubtnut.com/l/_TngFXESXHQqM
https://dl.doubtnut.com/l/_1Y2Fkm7LOwG5
https://dl.doubtnut.com/l/_f1cpfvbGpQFu


gives the following results. 

(i) Which firm A or B pays larger amount as monthly

wages ? 

(ii) Which firm A or B shows greater variability in

individual wages .

Watch Video Solution

Firm  A Firm B

No.of wage earners 586 648

Mean of monthly wages Rs.5253 Rs.5253

Variance of distribution of wages 100 121

14. A and B are events such that P(A) =0.42,P(B) =0.48

and P(A and B) =0.16 Determine (i) P( not A ) ,(ii)

P(not B) ,(iii) P ( A or B)

https://dl.doubtnut.com/l/_f1cpfvbGpQFu
https://dl.doubtnut.com/l/_XmDALDI20ZSH


Part C Iii Answer Any Ten Questions

Watch Video Solution

1. In a survey of 600 students in a school, 150

students were found to be taking tea and 225

taking coffee, 100 were taking both tea and coffee.

Find how many students were taking neither tea

nor coffee ?

Watch Video Solution

https://dl.doubtnut.com/l/_XmDALDI20ZSH
https://dl.doubtnut.com/l/_yldbbnKAeEGb


2. Let A={1,2,3,4,6}. Let R be the relation on A defined

by , b is exactly divisible by a}. 


(i) Write R in roster form, (ii) Find the domain of R,

(iii) Find the range of R.

Watch Video Solution

{{a, b) : a, b ∈ A

3. Prove that: 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

https://dl.doubtnut.com/l/_aD8ZufgQO8zf
https://dl.doubtnut.com/l/_O93Vj6UXlCaX


4. Represent the complex number  in

polar form.

Watch Video Solution

z = 1 + i

5. Solve 

Watch Video Solution

√5x2 + x + √5 = 0

6. Find the number of arrangements of the letters

of the word INDEPENDENCE. In how many of these

https://dl.doubtnut.com/l/_SLaiYXsTYogB
https://dl.doubtnut.com/l/_huGo0VxSr98Z
https://dl.doubtnut.com/l/_BEm2p12Mgor6


arrangements (i) do the word start with P (ii) do all

the vowels always occur together.

Watch Video Solution

7. Find the middle term in the expansion of

Watch Video Solution

( + 9y)
10x

3

8. Insert five numbers between 8 and 26 such that

the resulting sequence is in AP.

Watch Video Solution

https://dl.doubtnut.com/l/_BEm2p12Mgor6
https://dl.doubtnut.com/l/_Y7GDO1INtAwW
https://dl.doubtnut.com/l/_W1y2x4Axz5e7


Part D Answer Any One Question

9. Find the sum of the sequence 8, 88, 888, 8888, . . .

To n terms.

Watch Video Solution

1. Prove geometrically that cos(x + y) = cos x cos y -

sinx sin y and hence prove  = - sin x .

Watch Video Solution

cos( + x)
π

2

https://dl.doubtnut.com/l/_W1y2x4Axz5e7
https://dl.doubtnut.com/l/_E0QFVGucRXCD
https://dl.doubtnut.com/l/_H3jOOXiVWs0o
https://dl.doubtnut.com/l/_3ltcCwngCXuK


2. Find the sum to 'n' terms of 1.2.3 +2.3.4+3.4.5+……

Watch Video Solution

3. Find the derivative of  to x . .

.

Watch Video Solution

f(x) w. r.
x + cos x

tan x

https://dl.doubtnut.com/l/_3ltcCwngCXuK
https://dl.doubtnut.com/l/_ErBr9BLNi0UQ

